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DEVELOPMENT : A COMPARATIVE STUDY

Time : 3 hours Maximum Marks : 100

(Weightage : 70%)

Note :

Attempt questions from each section as per
instructions.

SECTION A
(Long Answer Questions)

Answer any two questions from this section in about
500 words each. 2x20=40

1. Explain the concept of Industrial Revolution.
What changes did it bring about in the society ?
Examine the impact of Industrial Revolution on
British Cotton Industry.

2. State briefly the main features of
industrialisation debate in _the economic
development of Soviet Russia. What impact did
it have on the future course of economic
development of this country ?
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3. Describe and assess the ‘Lewis Model’ of
development for underdeveloped countries.

4. What were the social consequences of increasing
land concentration after the land settlement of
1873 in Japan ? Discuss.
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SECTION B

(Medium Answer Questions)

Answer any three questions from this section in about
250 words each. 3x10=30

5. Explain Simon Kuznets’ notion of Modern
Economic Growth. What are the problems
associated with its measurement ?

6. Explain briefly the salient features of the
Russian Emancipation Act.

7. Briefly discuss the main features of
"~ Gerschenkron’s analysis.

8. Explain briefly the Marxian analysis of the
stages of economic development.

9. Explain the impact of the West on Japan during
the 192 century. '

10. Briefly outline how the. agricultural land was

enclosed during the 16" century. What was the
impact of the Enclosure Movement on the poor
peasantry ?
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SECTION C
(Short Answer Questions)

Answer both questions of this section as directed.

11. Write short notes on any three of the following
in about 100 words each : 3x5=15

(a) Take-off into Self-Sustained Growth

(b)  Sociological dualism and Technological
dualism '

(¢) Concepts of Economic Development and
Economic Growth

(d) Human results of the Industrial Revolution
(e) Triangular trade in the 18%? century

12. Define any five of the following: - 5x3=15
(a) Import Substitution
(b)  ‘The Big Push’ concept
(c) Leadjngy Sector
(d)  Scissors Crisis
()  Gosplan
()  Jinushi
(g Unequal Exchange
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